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QUESTION 1

Which two statements about troubleshooting common ARP forwarding issues ma Cisco ACI Fabric are true? (Choose
two.) 

A. If IPManager On the spine rejected a tenant VRF/route configuration, the spine command show ip route vrf can be
used to verify all tenant VRF configurations. 

B. The BD SVI IP address can be verified with the vsh_ Ic show platform internal ns forwarding router-ip command. 

C. The tcpdum command can be used on all Cisco ACI switches to capture and verity tenant EPGdata plan traffic. 

D. The VLAN membership for an interface on the Broadcom ASIC can be verified with the show hardware vlans
programmed command. 

E. VLAN membership of an Interface can be vended wrth the VSh_lC show system Internal eltmc Info interface x/x
command. 

Correct Answer: CD 

 

QUESTION 2

Which Cisco ACl policy binds the VMM domain with specific leaf interfaces? 

A. interface profile 

B. switch pokey 

C. vSwitch policy 

D. attachable access entity pokey 

Correct Answer: C 

 

QUESTION 3

In the Cisco Nexus 9508 chassis, how many Broadcom T2 ASICs are on the fabric module? 

A. 4 

B. 1 

C. 2 

D. 0 

Correct Answer: A 

 

QUESTION 4
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Which command allows you to log in to a line card on a leaf switch? 

A. Leaf# vsh_lc 

B. Leaf#vsh 

C. Leaf*vsh-lc 

D. Leaft vshell -lc 

E. Leafs vsh-hw 

Correct Answer: E 

 

QUESTION 5

Which three statements about logical, resolved, and concrete model in Cisco ACI are true? (Choose three.) 

A. Objects in the resolved model are read-only objects that are used to pass the configuration object from the Cisco
APIC to the needed switches. 

B. Objects in the concrete model are concrete real objects that are configured by a user. 

C. Objects in the logical model are read/write objects that are configured by a user. 

D. iNXOS consumes objects from the concrete model to program switch hardware with the needed networking
construct, such as vlan or vrf. 

E. iNXOS consumes objects from the resolved model to program switch hardware with the needed networking
construct, such as vlan or vrf. 

F. NXOS consumes objects from the logical model to program switch hardware with the needed networking construct,
such as vlan or vrf. 

Correct Answer: BCD 
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